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 תשובות סופיות 

 1שאלה מספר 

 קמ"ש  5 .א 

 08:10בשעה  .ב

 2שאלה מספר 

,𝐴(0,−3) .א  𝐶(5, 12) 

,𝐷(−4 .ב 0) 

 הוכחה .ג

 לא .ד

𝑆∆𝐵𝑀𝐶 .ה = 46.875 

 3שאלה מספר 

( 1 .א 
4

5
 

2 )0.07 

 0.9 .ב

 365 .ג

 

 

 

 

 



–– 

 

 4שאלה מספר 

 הוכחה .א 

 הוכחה .ב

 .ג
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𝑆∆𝐴𝑂𝐷( 1 .ד = 12 

2 )𝑆𝐴𝐵𝐶𝐷 = 30.75 

 5שאלה מספר 

𝐴𝐶𝐵∢ .א  = 22.521° 

𝐶𝐵 .ב = 4.095 

𝐷𝐵𝐶∢ .ג = 117.422° 

𝑅 .ד = 5.076 

 6אלה מספר ש

𝑥( 1 .א  ≠ 3, 𝑥 ≠ −3 

2 )𝑥 = 3, 𝑥 = −3, 𝑦 = 6 

,0) .ב  מקסימום  (4

,6√−) .ג 0), (0, 4), (√6, 0) 
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 IVגרף  .ה
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 7ר שאלה מספ
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 מינימום קצה (
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𝑥𝑚𝑎𝑥 .ו = −10 

 8שאלה מספר 

,𝐶(−𝑡 .א 
48

𝑡2
+ 1), 𝐵(𝑡,

48

𝑡2
+ 1) 

𝑡 .ב = 4 

8 .ג + 4√13 = 22.422 


